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Previous cuts (recap)

Cut

Best candidate selection

sinp <1
Mkn>1.91 GeV

|Myr-3.1/>0.05&
|M,-3.69]>0.05GeV

|m,,,-3.1|>0.05&
|m,,,-3.69]>0.05 GeV

1.5<mgroe<2.06 GeV
Piag = 1.3 GeV

-2<C0S01g<1.1
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With previous cuts

o signal
—B Ky Enties 3401
. Vean — -03993
L Std Dev 0.5659
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chg
Entries 1428
Mean -0.2865
Std Dev 0.763
mix
Entries 777
Mean -0.2432
Std Dev 0.7563
chm
Entries 614
Mean -0.2458
Std Dev 0.8124
con
Entries 206
Mean -0.2075
Std Dev 0.8216
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With R2<0.3 cut

signal chg

—B KT Enres 2664 Entries 1078
= Mean -0.403 Mean -0.2838
- SDev 05685 StdDev 07515
:_ 12 __ mix
C L Entries 589
— i Mean -0.2478
B 10— Std Dev 0.754
- B chm
- o Entries 63
T = Mean -0.326
- - StaDev 08022
C 6— con
o B Entries 25
- i - Mean -0.1135
C L Std Dev 0.6495
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With R2<0.3 and nLeptons = 2 cuts
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signal

Mean ~(.4026

Eniries 2300

Std Dev 05678
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chg
Entries 803
Mean -0.277
Std Dev 0.7355
mix
Entrigs 430
Mean -0.2323
Std Dev 0.7395
chm
Entrigs 48
Mean -0.3752
Std Dev 0.7594
con
Entries 23
Mean -0.162

Std Dev 0.6547




* Applied some loose

selections on tag side

pltag > 0.3 GeV
1.3 < Mpree < 2.1 GeV

TMVA

Cut

Best candidate selection

sinp<1
Mkn>1.91 GeV

|Myr-3.1/>0.05&
|M,-3.69|>0.05GeV

|m,,.-3.1]>0.05&
Im,,-3.69]>0.05 GeV



Input variables

1.2

Signal

Background

(1/N) dN/ 0.0564
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Input variable: tanh{nusﬁmg}
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TMVA response for classifier: BDT TMVA response for classifier: Fisher
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tanh(cosem)
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Correlation matrices

Linear correlation coefficlents in %
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Efficiency (Purlty)
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Classifier efficiencies (FOM)

— Signal efficiency
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Classifier efficiencies (PFOM)

Cut efficiencies and optimal cut value

Efficiency (Purity)
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{1/N) dN / dx

Classifier training

TMVA overtraining check for classifier: BDT

TMVA overtraining check for classifier: Fisher
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Background rejection

ROC curve
TMVA
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